R = 4 55105004 [ 5 S A B ERSR FHE AL S RS
3 L 1 RE CELAXTT A 20234ETH17H

F— L 1 2 3 4 5 6 7 8 9 2t

FKHEDE 1 1 0 0 0 1 1 2 0 6
FA A 0 0 0 0 0 0 0 0 0 0

T—7 )

F—2I FIgc | 2247 | W4T | UZE | =HR | #52 | ZRE | 00K | OF | fid
BHExE | 33 9 6 6 4 3 12 0 0

] 27 0 0 0 9 0 0 0 0 1
Ny T ) —

F— A 1 T W7

mE | i Skl (6) Vefdg HEZE (3) BRI TN
) B &k (5) REH WA @13 B Oz (L2/3) Ra[ BEAE
® #

REFT L 5T BRI
Z8HT L —5 B2
T8 o SR PEERoR, NI, TR HE (BKEESR) . T R
=8 VERE(E &
e PEAEZIPN

R = 4 5510504 [ i S AR B ERS FHERL S RS

3 [E15% B 2 #RE TEBLRXTT A 20234FTH17H

F— LI 1 2 3 4 5 7 8 9 B
PN CES] S 0 0 0 0 0 0 0 0 0
K A 0 0 1 0 0 0 0 0 X 1

T—7 )

F—n | FTHC | RET | BRIT | TUSE | SR | R | RE | KR | OF
REEEIRS | 26 5 3 2 4 1 1 1
R | 26 6 2 3 3 0 6 0 1

Ny T ) —

F— LI # F W F
KEFERE | ik i (1) i R (1) =k K
Bt | BH EA Q) md HEFE (2) G BA @ B A

S | #* O
RET: 2L B A TS — B
=8 L —& THKE#
THT: L —H KIAIE
=8 AR
e HRIE




R = 4 55105004 [ 5 S A B ERSR FHE AL S RS
3 [ ¥ 3 RA CEBRIVT A LS Trwey 202347 H17H

F— L 1 2 3 4 5 6 7 8 2t
FKHPGE 4 1 0 0 0 1 0 0 0 6
REE JENE 1 0 0 0 0 0 0 1 0 2

T—7 )

F—2 | T | RET | BT | TUSE | SR | R | AR | KR | OF | B | ik
KHEPGE | 32 10 3 6 5 2 0 1 0 0
REEEES | 29 4 2 3 8 0 5 1 1 1 2

Ny T Y —

F— A 1 T W7
KHpEE | 2B 2% ) 0 RE KA
KA R SR O (1/3) B 2SR (8.2/9) 0 VefE e

E 4T #
ARELFT L 5T N NEE i
Z8HT L —& Sl
T84T SEP O, AR RKEPEE) . R B ORARTES) —8 BAE
=8 Rili—
e e RE ]




